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Polarity: Polar bears and Penguins – Comic Strip Activity
· What do the penguin and the polar bear represent in the cartoon? 
· What do the penguins represent in the cartoon?
· What does the polar bear represent in the cartoon?
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· What do you think the size difference between these animals means?

· Use your own words to define electronegativity as you understand it? 
· [image: image3.png]The electrical imbalance of POLARITY is caused by differences in
ELECTRONEGATIVITY between atoms. Electronegativity is the ability of
an atom/nucleus to attract bonding electrons toward itself.
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In HCI, the bonded pair of electrons
spends more time near the chlorine's
nucleus because chlorine is more
electronegative than hydrogen.




 What is the trend of electronegativity according to the picture above?
Why does the penguin think that polarity is unfair?
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Note: The noble gasses, in the periodic table’s far right column, are often assigned an
electronegativity value of zero because they are relatively nonrecctive.




Explain what you think this crossed arrow above a bond could represent: 
Making Sense: 
· What does electronegativity have to do with polarity?

Electro Negativity: Use the Diagram Below
· What happens to the electronegativity values across each period from left to right?
· What happens to the electronegativity values up each groups from bottom to top?

· What type of atoms have the lowest electronegativity? (metals, nonmetals, or metalloids) CIRCLE ONE.

What makes something an Ionic bond vs Covalent bond?

If the difference between electronegativity is greater than 2.1 the bond is ionic.

If the difference between electronegativity is less than.5 the bond is non polar covalent.

If the difference between electronegativity is between .5 and 2.1 the bond is polar covalent.

· Using the table above, list 3 examples of pairs of atoms that would make  ionic bonds
·  List 3 examples of pairs of atoms with polar covalent bonds

